=
0
v
e

wR7d CLAMPS
\S\ LK ROHRSCHELLEN - COLLIERS
Fittings SENL\KelciV Jploll

NKFLUID

WWW.LINKFLUID.COM e DISTRIBUTION OF HYDRAULIC EQUIPMENT


http://www.linkfluid.com/
http://www.linkfluid.com/

CLAMPS

SOMMAIRE

ROHRSCHELLEN - COLLIERS

CONTENTS - INHALTSVERZEICHNIS - INDICE VISUALE

INTRODUCTION
INTRODUCTION
EINFUHRUNG

05-06

Colliers SERIE STANDARD

Colliers série standard
Standard clamps
Rohrschellen, Standardbaureihe

Plaque a souder
Lower plate
AnschweiBplatte

Plaque supérieure
Upper plate
Adbeckplatte

Plaque a souder prolongée
Extended lower plate

Verléngert Schraub-SchweiBplatte

Plaque a souder double
Double lower plate

DoppelschweiBplatte

Plaque a souder multiple
Multiple lower plate
ReihenanschweiBplatte

Rail a souder
Rail

Tragschiene fur Standardbaureihe
und Doppelschelle

AN N K’

& LINKFLUID

07

07 e

07

08

w

08

08

S 2-
LINKFLUID © - CA2014-1

OO0
WS

Ecrou pour rail
hexagonal nut for rail

Schienenmutter

Vis 6 pans creux
T.C.E.l. screws
Innensechskantschraube

Vis téte hexagonale
Hexagonal head screw
AuBensechsschraube

Vis de superposition
Screw superposition

Schraubentberlagerung

Plaque intermédiaire
Intermediate plate

Zwischenplatte

Fittings

www.linkfluid.com

08

09

09

09

09


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIERS Fittings

Colliers SERIE DOUBLE
= Colliers série doubles collier pour tuyau jumelé
Double clamps Clamps for twin tubes
Rohrschellen, Doppelschellen Rohrschellen fUr Doppelschlauch
10 11
Plaque a souder Plaque a souder
Lower plate Lower plate
AnschweiBplatte ‘ AnschweiBplatte
10 12
Plaque supérieure Plaque supérieure
1 Upper plate ‘ Upper plate
“ Adbeckplatte Adbeckplatte
10 12
Plaque a souder multiple vis 6 pans creux
/ Multiple lower plate e T.C.El screws
ReihenanschweiBplatte Innensechskantschraube
10 12
Rail a souder Vis téte hexagonale
Rail {]1 Hexagonal head screw
Tragschiene fir Standardbaureihe AuBensechsschraube
und Doppelschelle
11 12
Ecrou pour rail Collier double pour tuyau, tube ou cables
hexagonal nut Clamps for hose, pipe, tube and cable
& Schienenmutter Rohrschellen fUr Schlauch, Rohr und Kabel
11 12
Vis téte hexagonale
(m Hexagonal head screw
AuBensechskantschraube
11
vis de superposition
Superposition screw
m ScharaubenUberlagerung
11
Plaque intermédiaire
Intermediate plate
Zwischenplatte
11

- 3-
@ l_| NKF LUID LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

CLAMPS

ROHRSCHELLEN - COLLIERS

Colliers SERIE LOURDE

Colliers série lourde
Heavy duty clamps
Rohrschellen, schewere Reihe

Plaque a souder

’ﬁ ﬁM Lower plate
O i)

AnschweiBplatte

Plaque supérieure
Upper plate
Adbeckplatte

Plaque a souder double
Double lower plate

Doppel-AnschweiBplatte

Plaque supérieure double
Double upper plate
Doppel-Adbeckplatte

Rail a souder
Rail
Tragschiene fUr Standardbaureihe
und Doppelschelle
Ecrou pour rail
G Hexagonal nut for rail

Schienenmutter

p Vis téte hexagonale
Hexagonal head screw

AuBensechsschraube

vis de superposition
Superposition screw

SchraubenUberagerung

Plaque intermédiaire

Intermediate plate

Zwischenplatte

& LINKFLUID

13

14

14

15

14

14

15

15

15

15

_4-
LINKFLUID © - CA2014-1

®OeAO

LK

Fittings

Colliers SERIE LOURDE doubles
Heavy duty double clamps
Rohrschellen, Doppelschewere Reihe

Plaque a souder
Lower plate
AnschweiBplatte

Plaque supérieure
Upper plate
Adbeckplatte

Vis téte hexagonale
Hexagonal head screw
AuBensechsschraube

15

16

16

16

Auvutres colliers

Colliers a tourillons
Hose clamp high pressure
Hochdruck-Schlauchklemme

www.linkfluid.com

17



http://www.linkfluid.com/
http://www.linkfluid.com/

CLAMPS

Suggerimenti per il montaggio

'Y ] 1d

ggio con pi aa e

Posizionare la piastra inferiore nella posizione pre-
scelta e bloccarla con un magnete o con un'appro-
priata attrezzatura. Saldare quindi la piastra. Inseri-
re il semiguscio inferiore della staffa, posizionare il
tubo, mettere il secondo semiguscio e serrare le viti.
Non saldare la piastra inferiore con la staffa di plasti-
ca montata, le piastre inferiori allungate possono es-
sere avvitate direttamente sul telaio della macchina.
Attenzione agli interassi dei tubi (si sconsiglia il con-
tatto fra due staffe).

Montaggio con binario

| binari sono forniti con lunghezza di 2 metri. Saldare
o avvitare il binario sul telaio della macchina, inserire il
dado scorrevole nel binario e girarlo leggermente in
modo che non possa ruotare, inserire la parte inferio-
re della staffa, posizionare il tubo, mettere il secondo
semiguscio e serrare le viti. Attenzione agli interassi
dei tubi (si sconsiglia il contatto fra due staffe).

ggio raggruppato

Consiste nel montare due staffe una sopra |'altra
usando due viti speciali. Con questo montaggio si
possono raggruppare due o piu staffe bloccando le viti

ROHRSCHELLEN - COLLIERS

\speciali con un’appropriata piastrina di sicurezza. /

OO0
LK

Fittings

‘ N

Mounting details
Weld plate mounting

Weld lower plate in position. Press on lower clamp
half, lay tube, put on top clamp half, insert screws
and tighten. Don’t weld with plastic clamps on them.
Prolunged lower plate can be screwed directly to the
surface. Ensure the clamp halves are not in contact
with each other.

Rail mounting

Mounting rails are supplied in 2m lenghts. Weld or
screw mounting rail in position. Insert nut into rail
and turn to fix at correct spacing. Press on lower
clamp half, lay tube, put on top clamp half, insert
screw and tighten. Ensure the clamp halves are not
in contact with each other.

Stacking

Consists of 2 clamp halves, stacking bolt(s) and a bolt
locking plate. To construct a stack, fasten a weld pla-
te or rail nut and locate 2 clamp halves and tube, se-
curing with stacking bolt(s). Once tight, these bolts
must be held with a locking plate. The next clamp can
then be assembled and so on, until the stack is com-
plete, the last clamp being secured with conventional
bolt(s) and top plate. For each stack a mounting sha-
pe of your choice should be ordered, components
from wich start and finish the stack. We reserve the
right to make modifications in the interest of techni-

Qal progress. /

Distanza suggerita tra una staffa e I'altra dello stesso gruppo.
Recommend distance for installation of clamps of same group code.
Empfohlener Schellenabstand.

Distance conseillée entre les colliers.

@ est. tubo - @ tube Distanza fra le staffe in m
RohrAD / Tube-0D Distances of clamps in meters
K Schellenabstand in m
in mm . . N
Distance entre les colliers en métres
a b bis 12,7 0.9
a 15 bis 22 1.2
a 23 bis 28 15
a 30 bis 38,1 2
a 40 bis 48,3 25 Posizionare le staffe prima e dopo
- una curva a 80° (a gomito)
a50 bfs 57 3 When an elbow or bend be supported
a 60 bis 70 3.4 the clamps, should be positioned as
a 76,1 bis 88,9 3.7 close as possible on each side of the
a 101.6 bis 108 4 bend.
a 114,3 bis 133 43 Rohrbogen direkt vor und hinter dem
21397 bis 165.1 5 Bogen mit HSB.-ScheIIen abfanggn.
- Monter les colliers avant et apres
a 168,3 bis 324 5.5 une courbe a 90°.

- 5.

@ l— | N |<F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

CLAMPS

ROHRSCHELLEN - COLLIERS

\

Montagehinweise
Montage auf AnschweiBplatten

AnschweiBplatten auf einer mit der Belastung abge-
stimmten Unterlage anschweiBen. Untere Schel-
lenhalfte auf AnschweiBplatte klemmen, Rohr einle-
gen, zweite Schellenhalfte aufsetzen und mit den
Schrauben festziehen. Nicht mit aufgesetzter
Kunststoff-Schelle schweiBen! Verlangerte Anschwe-
iBplatten kdnnen mit der Unterlage verschraubt wer-
den.

Auf Vorspannung achten (Schellenhalften duarfen sich
nach der Montage nicht berdhren)!

3

M ge auf Trag

Tragschienen werden wahlweise in Stucken zu 2 m
geliefert. Tragschiene anschweiBen oder mit Befesti-
gungswinkel anschrauben. Tragschienenmuttern in
Schiene einfuhren und bis zum Anschlag drehen (auf
richtigen Abstand achten). Untere Schellenhalfte
aufklemmen, Rohr einlegen, zweite Schellenhalfte
aufsetzen und mit den Schrauben festziehen. Auf
Vorspannung acthen (Schellenhalften darfen sich
nach Montage nicht beruhren)!

Aufbaumontage

AnschweiBplatte oder Tragschiene anschweien oder
mit Befestigungswinkel anschrauben. Untere Schel-
lenhalfte aufklemmen, Rohr einlegen, obere Schel-
lenhalfte aufsetzen und mit Aufbauschrauben festzie-
hen (Aufbauschraube steht aber). Durch Auflegen ei-
nes Sicherungsbleches auf die obere Schellenhalfte
wird ein Verdrehen der Aufbauschraube verhindert.
Zweite Rohrschelle nun in gleicher Weise aufmontie-
ren usw. Formund MaBanderungen, die der techni-
\schen Entwicklung dienen, vorbehalten. /

OO0
LK

Fittings

\

Conseils pour le montage
Montage avec plaque a souder

Poser la plaque inférieure et fixer avec un aimant, ou
bien avec un autre outillage. Souder la plaque; poser
le collier inférieur, le tube, le deuxieme demi-collier et
serrer les vis. Ne pas souder la plaque inférieure
apres le montage du collier en plastique.

Les plaques inférieures allongées sont capables pour
le montage direct sur le chassis de la machine. Il faut
bien controler la distance entre les tubes (le contact
entre les colliers est déeconseillé).

Montage avec rail support

Les rails supports sont livrés en longueur 2 metres.
Souder ou bien visser le rail sur le chassis de la ma-
chine, insérer le contre ecrou hexagonal dans le rail
et le tourner, poser le collier inférieur, poser le tube,
poser le deuxieme demi-collier et serrer les vis. |l faut
bien contréler la distance entre les tubes (le contact
entre les colliers est déeconseillé).

Montage groupé

C’est le montage de deux colliers, un au-dessus de
I'autre par deux vis spéciales. Par ce montage c'est
possible de grouper, deux ou bien plusieurs colliers en
bloquant les vis spéciales par une propre plaque de

Qécur‘ité. /

Max. momento torcente per il fissaggio delle viti. Staffe con piastra superiore.

Max. bolt tightening Torque in Nm, for clamps with upper plate.
Max. Schraubenanzugsmoment in Nm, montage mit Deckplatte.

Max. effort en Nm, montage avec plague supérieure.

Serie — Series n° tw/Werkstoff/MateriaVMatériel
Baureihe — Série Polypropylen Polyamide Aluminium
Standard M8 8 10 12
Do T Gr. 1 M6 5 6 -
Dggg':l " oobie Gr.2+4 "o 12 12 -
Gr.5 8 8 _
Gr. 1 12 20 30
Gr. 2 M 10 12 20 30
Gr.3 15 25 35
Pesante Gr. 4 M2 30 40 55
:::vvfm Gr.5 M 16 45 55 120
Lourde Gr.6 M 20 80 150 220
Gr. 7 M 24 110 200 250
Gr. 8 M 30 180 350 500
Gr.9 M 30 200 370 500

- 6-

@ l— | N |<F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIER Fittings

Colliers SERIE STANDARD |

Module 0 Module 1-2-3-4-5-6

Colliers SERIE STANDARD
Standard clamps
Rohrschellen, Standardbaureihe

o

Mod DN Réf.Polypropyléne Ref.Comp!et Ref.Comp!ei A B c D E F s BOX
T° -30 +90°C Polypropylene Polypropyléne

06 CO-PP006 CA-PPO06SPIS CA-PPO06SPDPAS
08 CO-PP008 CA-PPO08SPIS CA-PPO08SPDPAS

0 10 CO-PPO10 CA-PPO10SPIS CA-PPO10SPDPAS 30 2 B 7 MEX20 815 3 50
12 CO-PP012 CA-PPO12SPIS CA-PPO12SPDPAS
06 CO-PP106 CA-PP106SPIS CA-PP106SPDPAS
06,4 CO-PP106.4 CA-PP106.4SPIS CA-PP106.4SPDPAS
0,8 CO-PP108 CA-PP108SPIS CA-PP108SPDPAS

! 9.5 CO-PP109.5 CA-PP109.5SPIS CA-PP109.55PDPAS 30 34 2 7 MéX20 4 3 <0
10 CO-PP110 CA-PP110SPIS CA-PP110SPDPAS
12 CO-PP112 CA-PP112SPIS CA-PP112SPDPAS
12,7 CO-PP212.7 CA-PP212.7SPIS CA-PP212.7SPDPAS
1/4" CO-PP213 CA-PP213SPIS CA-PP213SPDPAS
14 CO-PP214 CA-PP214SPIS CA-PP214SPDPAS
15 CO-PP215 CA-PP215SPIS CA-PP215SPDPAS

2 16 CO-PP216 CA-PP216SPIS CA-PP216SPDPAS 30 40 26 3 MEX25 46 3 <
3/8" CO-PP217 CA-PP217SPIS CA-PP217SPDPAS
18 CO-PP218 CA-PP218SPIS CA-PP218SPDPAS
19 CO-PP219 CA-PP219SPIS CA-PP219SPDPAS
19 CO-PP319 CA-PP319SPIS CA-PP319SPDPAS
20 CO-PP320 CA-PP320SPIS CA-PP320SPDPAS
1/2" CO-PP321 CA-PP321SPIS CA-PP321SPDPAS

s 22 CO-PP322 CA-PP3225PIS CA-PP322SPDPAS %0 8 33 3 MEX30 o4 3 &
25 CO-PP325 CA-PP325SPIS CA-PP325SPDPAS
25,4 CO-PP325.4 CA-PP325.4SPIS CA-PP325.4SPDPAS
3/4" CO-PP426.9 CA-PP426.9SPIS CA-PP426.9SPDPAS
28 CO-PP428 CA-PP428SPIS CA-PP428SPDPAS

4 30 CO-PP430 CA-PP430SPIS CA-PP430SPDPAS 30 7 4 42 MEX35 o1 3 2
32 CO-PP432 CA-PP4325SPIS CA-PP432SPDPAS
32 CO-PP532 CA-PP5325SPIS CA-PP532SPDPAS
1" CO-PP533.7 CA-PP533.7SPIS CA-PP533.7SPDPAS
35 CO-PP535 CA-PP535SPIS CA-PP535SPDPAS
38 CO-PP538 CA-PP538SPIS CA-PP538SPDPAS

5 40 CO-PP540 CA-PP540SPIS CA-PP540SPDPAS 30 68 52 8 MEX50 73 3 2
42 CO-PP542 CA-PP5425PIS CA-PP542SPDPAS
1"1/4 CO-PP542.4 CA-PP542.4SPIS CA-PP542.4SPDPAS
45 CO-PP545 CA-PP545SPIS CA-PP545SPDPAS
44,5 CO-PP644.5 CA-PP644.55PIS CA-PP644.55PDPAS

6 1"1/2 CO-PP648.3 CA-PP648.3SPIS CA-PP648.3SPDPAS 30 86 66 66 MéX60 89 3 25
50,8 CO-PP650.8 CA-PP450.8SPIS CA-PP650.8SPDPAS

J Vert CO-PP---V/

Autres matiéres sur demande : Polyamide T° -40 + 180°C J ¥
Autres matieres sur demande : Aluminium T° + 350°C

Plaque a souder Plaque supérieure

Lower plate Upper plate
AnschweiBplatte Adbeckplatte 20
Plaque & souder Plaque Plaque Plaque Plaque & souder CA-SP / CI-SP Plaque supérieure CA-DP / CI-DP
Module DN n 5 e N . BOX
Acier a souder Inox p Acier supérieure Inox [ F [ F

0 - CA-SPO CI-SPO CA-DPO CI-DPO - 31,5 - 31,5 50
1 - CA-SP1 CI-SP1 CA-DP1 CI-DP1 20 41 20 41 50
2 - CA-SP2 CI-SP2 CA-DP2 CI-DP2 26 46 26 46 50
3 - CA-SP3 CI-SP3 CA-DP3 CI-DP3 33 54 33 54 50
4 - CA-SP4 CI-SP4 CA-DP4 CI-DP4 40 61 40 61 25
5 - CA-SP5 CI-SP5 CA-DP5 CI-DP5 52 73 52 73 25
6 - CA-SPé CI-SP6 CA-DP§ CI-DP6 66 89 66 89 25

- 7-

@ L | N |<F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIERS Fittings

E
Plaque & souder prolongée Plaque & souder double 3 -H‘jl E 3
Extended lower plate Double lower plate ;’ - L ko-C 30 30
Verléigert Schraub-SchweiBplatte DoppelschweiBplatte L ¢ 4j30 _Lh Ha -¢_‘ ¢ ; ¢
LD | =
Plaque & souder | Plaque & souder Plaque a Plaque & souder Plaque a souder prol. CA-SPR / CI-SPR Plaque & souder double CA-SPD / CI-SPD
RIElly| B rolongée Acier = prolongée Inox Sougey double Inox EOX
P 9 P g double Acier c F c F
0 - CA-SPRO CI-SPRO CA-SPDO CI-SPDO - 31,5 - 31,5 50
1 - CA-SPR1 CI-SPR1 CA-SPD1 CI-SPD1 20 41 20 41 50
2 - CA-SPR2 CI-SPR2 CA-SPD2 CI-SPD2 26 46 26 46 50
3 - CA-SPR3 CI-SPR3 CA-SPD3 CI-SPD3 33 54 33 54 50
4 - CA-SPR4 CI-SPR4 CA-SPD4 CI-SPD4 40 61 40 61 25
5 - CA-SPRS CI-SPRS CA-SPD5 CI-SPD5 52 73 52 73 25
) - CA-SPRé CI-SPR6 CA-SPDé CI-SPDé 66 89 66 89 25

4
Plaque & souder multiple ‘”—"‘ !
Multiple lower plate *.:H. ‘Q’ ' ¢'¢" ' % 30
ReihenanschweiBplatte L?-l NI
Module DN Plaque & souder Plcqug a souder Mutiple BOX
multiple Acier multiple Inox c F i N Qté
0 - CA-SPMO CI-SPMO 10 - 315 30 - 10 -
1 - CA-SPM1 CI-SPM1 10 20 410 40 20 10 -
2 - CA-SPM2 CI-SPM2 10 26 460 44 18 10 -
3 - CA-SPM3 CI-SPM3 10 33 540 52 19 10 -
4 - CA-SPM4 CI-SPM4 5 40 305 40 20 5 -
5 - CA-SPM5 CI-SPM5 5 52 365 75 23 5 -
6 - CA-SPMé CI-SPM6 5 66 445 90 24 5 -

Rail a souder Ecrou pour rail 4d I
Rail Hexagonal nut for rail b Jay
Tragschiene fUr Standardbaureihe und Doppelschelle Schienenmutter b _ b r11_1' F H 10 {4— 3
[11p] ] 2 h ’ -+
/ 2@ 3 n 26 U 754
5 8 Ecrou 3 - H d H
A Rail & souder Rail & souder pour Rail | Ecrou pour Rall Inox Rail & souder CA-TS / CI-TS Ecrou pour rail CA-SM / CI-SM o5
Acier Inox Acier b h d M
0a6 - CA-TS11 CKTS11 CA-SMé CI-SMé 28 11 12 Mé 100
0da6 - CA-TS14 CI-TS14 CA-SM8 CI-SM8 28 14 14 M8 50
0aé - CA-TS30 CI-TS30 CA-SM8 CI-SM8 28 30 14 M8 50

- 8-

@ L | N |<F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIER Fittings

vis 6 pans creux

Vis téte hexagonale —
T.C.E.l. screws Hexagonal head screw -
Innensechskantschraube AuBensechsschraube

1

Vis é pans Vis 6 pans Vis téte N Vis 6 pans creux Vis téte hexagonale
Module| BaDN creuprcier creuxplnox hex. Acier Wsliclelexdgondielinox CAF-JIS / CI-IS CA-AS / C?—AS BOX
e M e M
0&1 - CA-I181 CIHIS1 CA-AS1 CI-AS1 20 Mé6X20 30 Mé6X30 200
2 - CA-I1s2 CIl-IS2 CA-AS2 CI-AS2 25 Mé6X25 35 Mé6X35 200
3 - CA-IS3 CI-I1S3 CA-AS3 CI-AS3 30 M6X30 40 Mé6X40 200
4 - CA-I1s4 Cl-1S4 CA-As4 CI-As4 35 M6X35 45 MéX45 200
5 - CA-IS5 CI-IS5 CA-AS5 CI-AS5 50 M6X50 60 Mé6X60 100
6 - CA-ISé CI-IS6 CA-ASé CI-ASé 60 M6X60 70 MéX70 100
. oe . PP 1 F
vis de superposition Plaque intermédiaire N —
Superposition screw Intermediate plate -H- @30
Schraubendiberlagerung Zwischenplatte
c
UBER wbets Plac!ue . & Tt Vis é pans creux Plaque intermédiaire
Module, DN superposition superp. intermédiaire | Plaque intermédiaire Inox CA-AF / CI-AF CA-SIG / CI-SIG BOX
Acier Inox Acier
e M F c
0 - CA-SIGO CI-SIGO 28 - 50
1 - CA-AF1 CI-AF1 CA-SIG1 CI-SIG1 20 MéX20 34 20 50
2 - CA-AF2 CI-AF2 CA-SIG2 CI-SIG2 25 M6X25 41 26 50
3 - CA-AF3 CI-AF3 CA-SIG3 CI-SIG3 30 Mé6X30 47 33 50
4 - CA-AF4 CI-AF4 CA-SIG4 CI-SIG4 35 Mé6X35 57 40 50
5 - CA-AF5 CI-AF5 CA-SIGS CI-SIGS 50 M6X50 67 52 25
6 - CA-AF6 CI-AF6 CA-SIGé CI-SIGé 60 M6X60 82 66 25
-9-

@ L | N |<F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIER Fittings

Colliers SERIE DOUBLE |

B
Colliers SERIE DOUBLE = C i A
Double clamps .
Rohrschellen, Doppelschellen ¥ /z’c":lx .
e Sl
' LR 1
- L5 - t S
Réf.Polypropyléne Réf.Complet
Module DN = A B C D E F S BOX
T° -30 +90°C Polypropyléne
06 CO-PP106/06 CO-PA106/06PDPAS
06,4 CO-PP106.4/6.4 CO-PA106.4/6.4PDPAS
0.8 CO-PP108/08 CO-PA108/08PDPAS
! 9.5 CO-PP109.5/9.5 CO-PA109.5/9.5PDPAS %0 37 2 2 MEX35 &7 3 &
10 CO-PP110/10 CO-PA110/10PDPAS
12 CO-PP112/12 CO-PA112/12PDPAS
12,7 CO-PP212.7/12.7 CO-PA212.7/12.7PDPAS
1/4" CO-PP213/13 CO-PA213/13PDPAS
14 CO-PP214/14 CO-PA214/14PDPAS
15 CO-PP215/15 CO-PA215/15PDPAS
2 16 CO-PP216/16 CO-PA216/16PDPAS 30 53 2 2 MB8X35 55 5 &0
3/8" CO-PP217/17 CO-PA217/17PDPAS
18 CO-PP218/18 CO-PA218/18PDPAS
19 CO-PP219/19 CO-PA219/19PDPAS
19 CO-PP319/19 CO-PA319/19PDPAS
20 CO-PP320/20 CO-PA320/20PDPAS
1/2" CO-PP321/21 CO-PA321/21PDPAS
3 22 CO-PP322/22 CO-PA322/22PDPAS 30 o7 36 7 M8X45 70 5 &
25 CO-PP325/25 CO-PA325/25PDPAS
25,4 CO-PP325.4/25.4 CO-PA325.4/25.4PDPAS
3/4" CO-PP426.9/26.9 CO-PA426.9/26.9PDPAS
28 CO-PP428/28 CO-PA428/28PDPAS
4 30 CO-PP430/30 CO-PA430/30PDPAS 30 82 45 42 MBX50 85 5 <0
32 CO-PP432/32 CO-PA432/32PDPAS
32 CO-PP532/32 CO-PA532/32PDPAS
1" CO-PP533.7/33.7 CO-PA533.7/33.7PDPAS
35 CO-PP535/35 CO-PA535/35PDPAS
5 38 CO-PP538/38 CO-PA538/38PDPAS 30 106 56 54 M8X60 110 5 25
40 CO-PP540/40 CO-PA540/40PDPAS
42 CO-PP542/42 CO-PA542/42PDPAS
1"1/4 CO-PP542.4/42.4 CO-PA542.4/42.4PDPAS
—
‘ Autres matiéres sur demande : Polyamide T° -40 + 160°C ‘
Autres matiéres sur demande : Aluminium T° + 350°C /.’ﬁ

==

Plaque supérieure

F i
Lower plate Upper plate dn F—— 30
AnschweiBplatte Adbeckplatte .r_{ﬂ ' 30—

Plaque a souder

- > F

Plaque & souder Plaque a souder P"?"“e quque Plaque a souder | Plaque supérieure
Module DN Acier e super!eure supérieure CA-SP / CI-SP CA-DP / CI-DP BOX
Acier Inox
d F d F
1 - CA-SP1/1 CI-SP1/1 CA-DP1/1 CI-DP1/1 12 30 7 35 50
2 - CA-SP2/2 CI-SP2/2 CA-DP2/2 CI-DP2/2 14 55 9 52 50
3 - CA-SP3/3 CI-SP3/3 CA-DP3/3 CI-DP3/3 14 70 9 66 50
4 - CA-SP4/4 CI-SP4/4 CA-DP4/4 CI-DP4/4 14 85 9 81 25
5 - CA-SP5/5 CI-SP5/5 CA-DP5/5 CI-DP5/5 14 110 9 105 25

Plaque & souder multiple
Multiple lower plate ‘

- m
N

ReihenanschweiBplatte - E =
3 3 Plaque a souder multiple CA-SPM / CI-SPM
Module DN Plaque & souder Ploqug & souder q P BOX
multiple Acier multiple Inox C ‘ F ‘ H ‘ m ‘ Multiple
1 - CA-SPM1/1 CI-SPM1/1 40 200 3 Mé 5 50
2 - CA-SPM2/2 CI-SPM2/2 58 290 5 M8 5 50
3 - CA-SPM3/3 CI-SPM3/3 72 360 5 M8 5 50
4 - CA-SPM4/4 CI-SPM4/4 90 450 5 M8 5 25
5 - CA-SPM5/5 CI-SPM5/5 112 560 S5 M8 S5 25
-10-

@ L | N |< F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
LK

Fittings

CLAMPS

ROHRSCHELLEN - COLLIERS

d -
1 m
- b |
il & i b -
al a souder croU por r|I tflrl e ey H 104¢ 3
foll exagonal nu . 2 h .
Tragschiene fur Standardbaureihe und Doppelschelle Schienenmutter B3 In ZQJ h 254
. . . Ecrou pour Rail Ecrou pour Rail Rail & souder Ecrou pour rail
Module DN Rail a souder Acier Rail a souder Inox Acier Inox CA-TS / CI-TS CA-SM / CI-SM BOX
b h d M
1a5 - CA-Ts11 CI-TS11 CA-SMé CI-SMé 28 11 12 Mé 100
105 - CA-TS14 CI-T1S14 CA-SM8 CI-SM8 28 14 14 M8 50
105 - CA-TS30 CI-TS30 CA-SM8 CI-SM8 28 30 14 M8 50
Vis téte hexagonale
Hexagonal head screw
AuBensechskantschraube
N A PN Vis téte Hex
Module DN Vis téte hex. Acier Vis téte hex. Inox CA-AS / CI-AS BOX
e M
1 - CA-AS2 CI-AS2 35 MéX35 200
2 - CA-AS2/2 CI-AS/2 35 MB8X35 200
3 - CA-AS3/3 CI-AS3/3 45 M8X45 200
4 - CA-AS4/4 CI-AS4/4 50 M8X50 200
5 - CA-AS5/5 CI-AS5/5 60 M8X60 100
vis de superposition Plaque intermédiaire F%H'% 1
Superposition screw Intermediate plate
Schraubeniberlagerung Zwischenplatte N ' c
= Q
. . . Plaque Plaque . - N z
Vis de superposition Vis de superp. . S o R Vis de superposition Plaque interméd.
Module DN Acier s |n|elm¢?d|u|re intermédiaire CA-AF / CI-AF CA-SIG / CI-SIG BOX
Acier Inox
e M X c&F
1 - CA-AF2 CI-AF2 CA-SIG1/1 CI-SIG1/1 20 M6X25 11 30 100
2 - CA-AF2/2 CI-AF2/2 CA-§IG2/2 CI-SIG2/2 20 M8X35 13 30 100
3 - CA-AF3/3 CI-AF3/3 CA-§IG2/2 CI-SIG2/2 29 M8X45 13 30 100
4 - CA-AF4/4 CI-AF4/4 CA-§IG2/2 CI-SIG2/2 34 M8X50 13 30 100
5 - CA-AF5/5 CI-AF5/5 CA-SIG2/2 CI-SIG2/2 47 M8X60 13 30 50
B B
L A ——=— =
T - ¢
. " 7 I ;| . -
colliers pour tuyau jumelé | Y 4 ? [ ‘
Clamps for twin tubes D :H ! : D ‘
Rohrschellen fUr Doppelschellen G ’V % 7 JL N \ i
£p W77 L
F T
Module DN Réf.Polypropyléne Réf.Complet Réf.Complet
T° -30 +90°C Polypropyléne Polypropyléne . E S o E 7 8 EOX
3 1/4 CO-PP312J CA-PP312JSPIS CA-PP312JSPDAPAS 30 48 33 35 MéX35 37 3 50
5/16 CO-PP414) CA-PP414JSPIS CA-PP414JSPDAPAS 30 52 40 42 MB8X35 55 5 50
3/8 CO-PP416J CA-PP416JSPIS CA-PP416JSPDAPAS 30 52 40 42 MB8X35 55 5 50
5 1/2 CO-PP520J) CA-PP520JSPIS CA-PP520JSPDAPAS 30 68 52 58 MB8X35 55 5 50
Autres matiéres sur demande : Polyamide T° -40 + 180°C 5
Autres matiéres sur demande : Caoutchouc T° -40 +80°C n
- 11-
@ L | N |< F LU I D Dimensions are reference only and may be changed without notice. A .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIERS Fittings

3 F 3 F
Plaque & souder Plaque supérieure T ~
30 §
Lower plate Upper plate *} '¢' I |30
AnschweiBplatte Adbeckplatte LTJ -
Plaque & souder Plaque a souder A Plaque supérieure Plaque a souder Plaque supérieure
MeduIE B Acier Inox superieure Inox CA-SP / CI-SP CA-SP / CI-SP EOX
Acier
[ F C F

3 - CA-SP3 CI-SP3 CA-DP3 CI-DP3 33 54 33 54 50

4 - CA-SP4 CI-SP4 CA-DP4 CI-DP4 40 61 40 61 25

5 - CA-SP5 CI-SP5 CA-DP5 CI-DP5 52 73 52 73 25

vis 6 pans creux Vis téte hexagonale - H
T.C.E.l. screws Hexagonal head screw € e
Innensechskantschraube AuBensechsschraube
i 11
. Ilm Im
56 Vis 6 pans Vis téte hex. Vis téte hexagonale Vis é pans creux |Vis téte hexagonale
beEhle Bh pur:cti::ux creux Inox Acier Inox CA-IS / CI-IS CA-AS / CI-AS EOX
e M e M
3 - CA-IS3 CHS3 CA-AS3 CI-AS3 30 MéX30 40 M6X40 200
4 - CA-IS4 CI-IS4 CA-AS4 CI-AS4 35 Mé6X35 45 M6X45 200
5 - CA-IS5 CHHS5 CA-AS5 CI-AS5 50 M6X50 60 M6X60 100
Collier double pour tuyau, tube ou cables B
clamps for hose, pipe, tube and cable
Rohrschellen fUr Schaluch, Rohr und Kabel H
D2 -
Réf.Polypropyléne
Module D1/D2 ° .30 +90°C L1 L2 B H S S1 D3 BOX
2 06/06 CO-PP206/06LBG 38 22 16 14,2 2 3 6,9 50
08/08 CO-PP208/08LBG Possibilité 38 22 16 14,2 2 3 6,9 50
9 10/10 CO-PP210/10LBG de couleur : 38 22 16 14,5 2 3 6.9 50
12/12 CO-PP212/12LBG blanc, 38 22 16 14,5 2 3 6,9 50
3 15/15 CO-PP315/15LBG noir, vert. 53 31 20 22,5 2 3 6,9 50
4 1919 CO-PP419/19LBG 70 38 20 30 2 3 6,9 50
-12-

@ L | N |< F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

CLAMPS

ROHRSCHELLEN - COLLIER

Colliers SERIE LOURDE ‘

Colliers SERIE LOURDE
Heavy duty clamps
Rohrschellen, schewere Reihe

=

Module DN Réf.Polypropyléne Réf.Polyamide Complet A B S BOX
T° -30 +90°C T° -30 +90°C
06 CO-SPP106 CA-SPP106PDPAS
06,4 CO-SPP106.4 CA-SPP106.4PDPAS
0.8 CO-SPP108 CA-SPP108PDPAS
9.5 CO-SPP109.5 CA-SPP109.5PDPAS
10 CO-SPP110 CA-SPP110PDPAS
12 CO-SPP112 CA-SPP112PDPAS
1 12,7 CO-SPP112.7 CA-SPP112.7PDPAS 30 55 33 32 M10X45 73 8 25
1/4" CO-SPP113.5 CA-SPP113.5PDPAS
14 CO-SPP114 CA-SPP114PDPAS
15 CO-SPP115 CA-SPP115PDPAS
16 CO-SPP116 CA-SPP116PDPAS
3/8" CO-SPP117.2 CA-SPP117.2PDPAS
18 CO-SPP118 CA-SPP118PDPAS
19 CO-SPP219 CA-SPP219PDPAS
20 CO-SPP220 CA-SPP220PDPAS
1/2" CO-SPP221.3 CA-SPP221.3PDPAS
22 CO-SPP222 CA-SPP222PDPAS
2 25 CO-SPP225 CA-SPP225PDPAS 30 70 45 48 M10X60 85 8 25
254 CO-SPP225.4 CA-SPP225.4PDPAS
3/4" CO-SPP226.9 CA-SPP226.9PDPAS
28 CO-SPP228 CA-SPP228PDPAS
30 CO-SPP230 CA-SPP230PDPAS
30 CO-SPP330 CA-SPP330PDPAS
32 CO-SPP332 CA-SPP332PDPAS
1" CO-SPP333.7 CA-SPP333.7PDPAS
35 CO-SPP335 CA-SPP335PDPAS
3 38 CO-SPP338 CA-SPP338PDPAS 30 85 €0 60 MI0X70 102 8 2
40 CO-SPP340 CA-SPP340PDPAS
42 CO-SPP342 CA-SPP342PDPAS
1"1/4 CO-SPP342.4 CA-SPP342.4PDPAS
38 CO-SPP438 CA-SPP438PDPAS
42 CO-SPP442 CA-SPP442PDPAS
1"1/4 CO-SPP442.4 CA-SPP442.4PDPAS
44,5 CO-SPP444.5 CA-SPP444.5PDPAS
1"1/2 CO-SPP448.3 CA-SPP448.3PDPAS
50 CO-SPP450 CA-SPP450PDPAS
4 50,8 CO-SPP450.8 CA-SPP450.8PDPAS 45 120 90 90 M12X100 140 10 20
55 CO-SPP455 CA-SPP455PDPAS
57 CO-SPP457 CA-SPP457PDPAS
2" CO-SPP460.3 CA-SPP460.3PDPAS
63,5 CO-SPP463.5 CA-SPP463.5PDPAS
65 CO-SPP445 CA-SPP465PDPAS
70 CO-SPP470 CA-SPP470PDPAS
65 CO-SPP565 CA-SPP565PDPAS
70 CO-SPP570 CA-SPP570PDPAS
75 CO-SPP575 CA-SPP575PDPAS
5 2"1/2 CO-SPP576.1 CA-SPP576.1PDPAS 60 152 122 120 M16X130 180 10 10
80 CO-SPP580 CA-SPP580PDPAS
82,5 CO-SPP582.5 CA-SPP582.5PDPAS
3" CO-SPP588.9 CA-SPP588.9PDPAS
3" CO-SPP488.9 CA-SPP688.9PDPAS
100 CO-SPP6100 CA-SPP6100PDPAS
3"1/2 CO-SPP6101.6 CA-SPP6101.6PDPAS
6 108 CO-SPP6108 CA-SPP6108PDPAS 80 205 168 170 M20X190 225 15 10
4" CO-SPP6114.3 CA-SPP6114.3PDPAS
4"1/2 CO-SPP6127 CA-SPP6127PDPAS
133 CO-SPP6133 CA-SPP6133PDPAS
133 CO-SPP7133 CA-SPP7133PDPAS
5" CO-SPP7139.7 CA-SPP7139.7PDPAS
7 5'1/2 CO-SPP7152.4 CA-SPP7152.4PDPAS 90 250 205 200 M24X220 270 15 =
165 CO-SPP7165 CA-SPP7165PDPAS
1683 CO-SPP7168.3 CA-SPP7168.3PDPAS
6" CO-SPP8168.3 CA-SPP8168.3PDPAS
177.8 CO-SPP8177.8 CA-SPP8177.8PDPAS
8 193.7 CO-SPP8193.7 CA-SPP8193.7PDPAS 120 320 265 270 M30X300 340 25 =
216 CO-SPP8216 CA-SPP8216PDPAS
8" CO-SPP8219.1 CA-SPP8219.1PDPAS

Autres matiéres sur demande : Polyamide T° -40 + 180°C J
- 13- Autres matieres sur demande : Aluminium T° + 350°C =

@ L | N |<F LU I D Dimensions are reference only and may be changed without notice. . .
LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

CLAMPS

ROHRSCHELLEN - COLLIERS

OO0
LK

Fittings

. S F
Plaque a souder
Lower plate A
AnschweiBplatte _¢_ _?_
z C
A %a
Module DN Plaque & souder Acier e @ A F C S BOX
souder Inox
1 - CA-SSP1 CI-SSP1 30 75 33 8 25
2 - CA-SSP2 CI-SSP2 30 87 45 8 25
3 - CA-SSP3 CI-SSP3 30 102 60 8 25
4 - CA-SSP4 CI-SSP4 45 140 90 10 10
5 - CA-SSP5 CI-$SP5 60 180 122 10 10
6 - CA-SSP6 CI-SSP6 80 225 168 15 10
7 - CA-SSP7 CI-SSP7 90 270 205 15 -
8 - CA-SSP8 CI-SSP8 120 340 265 25 -
Plaque supérieure S F
Upper plate
Adbeckplatte - ‘I A
(2] c
Module | DN | Plaque supérieure Acier (AT A F c s BOX
superieure Inox
1 - CA-SDP1 CI-SDP1 30 55 33 8 25
2 - CA-SDP2 CI-SDP2 30 70 45 8 25
3 - CA-SDP3 CI-SDP3 30 85 40 8 25
4 - CA-SDP4 CI-SDP4 45 120 90 10 10
5 - CA-SDP5 CI-SDP5 60 152 122 10 10
6 - CA-SDP§ CI-SDP6 80 205 168 15 10
7 - CA-SDP7 CI-SDP7 90 250 205 15 -
8 - CA-SDP8 CI-SDP8 120 320 265 25 =
Plaque & souder double i s
Double lower plate ——
Doppel-AnschweiBplatte @ @?‘ A
==am
C
L —
F
Plaque & souder Plaque a souder
LIXs 2N double Acier double Inox L 5 s < s 2 EOX
1 - CA-SSP1D CI-SSP1D 60 56 8 33 31 11 25
2 - CA-SSP2D CI-SSP2D 60 70 8 45 31 11 25
3 - CA-SSP3D CI-SSP3D 60 85 8 60 31 11 25
4 - CA-SSP4D CI-SSP4D 90 116 10 90 46 14 10
5 - CA-SSP5D CI-SSP5D 120 153 10 122 61 18 10
.D_
o ;‘b:‘;:l 1S
Plaque supérieure double _“
Double upper plate P -] i
Doppel-Adbeckplatte . Pl A
o el
(=T <
"l F
Plaque supérieure Plaque supérieure
Mcduis BIX double Acier double Inox a ? < S EOX
1 - CA-SDP1D CI-SDP1D 30 55 33 8 25
2 - CA-SDP2D CI-SDP2D 30 70 45 8 25
3 - CA-SDP3D CI-SDP3D 30 85 60 8 25
4 - CA-SDP4D CI-SDP4D 45 120 90 10 10
5 - CA-SDP5D CI-SDP5D 60 152 122 10 10

& LINKFLUID

- 14-

Dimensions are reference only and may be changed without notice.

LINKFLUID © - CA2014-1

www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
LK

Fittings

CLAMPS

ROHRSCHELLEN - COLLIERS

B b
. . 12 M -
Rail a souder Ecrou pour rail M i WY ﬁ |
Rail Hexagonal nut for rail 5 H
Tragschiene fUr Standardbaureihe und Doppelschelle Schienenmutter *
&
L
. . 0,8 Ecrou pour . Rail & souder Ecrou pour rail
Module DN Rail a souder Acier Rail a souder Inox Rail Acier Ecrou pour Rail Inox CA-TS / CI-TS CA-SSM / CI-SSM BOX
B H D M
145 - CA-§TS22 CI-ST522 40 22 2
103 - CA-SSM10 CI-SSM10 18 MI10 25
4 - CA-SSM12 CI-SSM12 20 MI12 25
5 - CA-SSM16 CI-S$SM16 20 M16 10
Hexagonal head screw
AuBensechsschraube
Module DN Vis téte hex. Acier Vis téte hex. Inox e M BOX
1 - CA-SAS1 CI-SAS1 45 M10 100
2 - CA-SAS2 CI-SAS2 60 M10 100
3 - CA-SAS3 CI-SAS3 70 M10 100
4 - CA-SAS4 CI-SAS4 100 M12 50
5 - CA-SAS5 CI-SAS5 130 M16 10
6 - CA-SASé CI-SAS6 190 M20 10
7 - CA-SAS7 CI-SAS7 220 M24 10
8 - CA-SAS8 CI-SAS8 300 M30 10
s.. F
Superposition screw Intermediate plate
Schraubeniberlagerung Iwischenplatte E A
kg it ‘C B
ubel A Plague intermédiaire Plaque
Module DN superposition Vis de superp. Inox intermédiaire q Vis 6 pans creux q BOX
Inox intermédiaire
Acier Acier
e M A-F C-s
1 - CA-SAF1 CI-SAF1 CA-SSIG1 CI-SSIGT 45 M10 30-55 33-8 50
2 - CA-SAF2 CI-SAF2 CA-$SIG2 CI-$SIG2 60 MI10 30-70 45-8 50
3 - CA-SAF3 CI-SAF3 CA-SSIG3 CI-SSIG3 70 M10 30-85 60-8 50
4 - CA-SAF4 CI-SAF4 CA-SSIG4 CI-$SIG4 100 MI12 45-120 90-10 25
5 - CA-SAF5 CI-SAF5 CA-SSIG5 CI-SSIGS 110 M16 60-152 122-10 10
Colliers SERIE LOURDE doubles
Heavy duty double clamps A
Rohrschellen, Doppelschewere Reihe 2 j
£ 7
22
Module DN Réf.Polypropyléne Réf.Polypropyléne
T° -30 +90°C T° -30 +90°C - . € 2 g g e
19 CO-SPP419/19 CA-SPP419/19PDPAS
20 CO-SPP420/20 CA-SPP420/20PDPAS
1/2" CO-SPP421/21 CA-SPP421/21PDPAS
4 22 CO-SPP422/22 CA-SPP422/22PDPAS 30 15 70 4 @ 24 2
25,4 CO-SPP425,4/25,4 CA-SPP425,4/25,4PDPAS
3/4" CO-SPP426,9/26,9 CA-SPP426,9/26,9PDPAS
32 CO-SPP532/32 CA-SPP532/32PDPAS
1" CO-SPP533,7/33,7 CA-SPP533,7/33,7PDPAS
5 38 CO-SPP538/38 CA-SPP538/38PDPAS 30 144 120 60 60 30 25
40 CO-SPP540/40 CA-SPP540/40PDPAS
42 CO-SPP542/42 CA-SPP542/42PDPAS
Autres matiéres sur demande : Polyamide T° -40 + 180°C ’
- 15- Autres matiéres sur demande : Aluminium T° + 350°C ’

Dimensions are reference only and may be changed without notice.
LINKFLUID © - CA2014-1

& LINKFLUID

www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
LK

CLAMPS Fittings

ROHRSCHELLEN - COLLIERS

Plaque a souder

Lower plate
AnschweiBplatte
>
-
<
Module DN o TR o, LTS c M D F BOX
a souder Acier a souder Inox
4 - CA-SSP4/4 CI-SSP4/4 90 10 18 130 10
5 - CA-SSP5/5 CI-SSP5/5 120 10 18 160 10
Plaque supérieure
Upper plate
Adbeckplatte
Module DN LS HEEVS c M B A BOX
supérieure Acier supérieure Inox
4 - CA-SDP4/4 CI-SDP4/4 90 11 15 30 10
5 - CA-SDP5/5 CI-SDP5/5 120 11 144 30 10
Vis téte hexagonale
Hexagonal head screw
AuBensechsschraube
Module DN Vis téte hex. Acier | Vis téte hex. Inox e M BOX
4 - CA-SAS2 CI-SAS2 60 M10X60 50
5 - CA-SAS3 CI-SAS3 70 M10X70 50
- 16-
Dimensions are reference only and may be changed without notice. A .
www.linkfluid.com

@ L| N |<F LU I D LINKFLUID © - CA2014-1


http://www.linkfluid.com/
http://www.linkfluid.com/

OO0
CLAMPS LK

ROHRSCHELLEN - COLLIERS Fittings

Auvutres colliers

Colliers a tourillons Colliers a tourillons
Standards Standards
Acier zn blanc Inox
Hose clamp high pressure Hose clamp high pressure
Hochdruck-Schlauchklemme Hochdruck-Schlauchklemme
Références W1 Références W4 | Plage | vis | Bande | Poids | BOX |
CA-TB 17/19 CI-TB 17/19 17-19 M5*40 18*0.6 - -
CA-TB 20/22 CI-TB 20/22 20-22 M5*40 18*0.6 - -
CA-TB 23/25 CI-TB 23/25 23-25 M5*40 18*0.6 - -
CA-TB 26/28 CI-TB 26/28 26 -28 M5*40 18*0.6 - -
CA-TB 29/31 CI-TB 29/31 29 -31 Mé*50 20*0.8 - -
CA-TB 32/35 CI-TB 32/35 32-35 Mé*50 20*0.8 - -
CA-TB 36/39 CI-TB 36/39 36 -39 Mé*50 20*0.8 - -
CA-TB 40/43 CI-TB 40/43 40- 43 Mé*50 20*0.8 - -
CA-TB 44/47 CI-TB 44/47 44 - 47 Mé*60 22*1.5 - -
CA-TB 48/51 CI-TB 48/51 48 -51 Mé6*60 22%1.5 - °
CA-TB 52/55 CI-TB 52/55 52-55 Mé6*60 221.5 - -
CA-TB 56/59 CI-TB 56/59 56 - 59 Mé*60 22%1.5 - °
CA-TB 60/63 CI-TB 60/63 60 - 63 Mé6*60 221.5 - -
CA-TB 64/67 CI-TB 64/67 64 - 67 M8*75 22%1.2 - o
CA-TB 68/73 CI-TB 68/73 68-73 M8*75 24*1.5 - -
CA-TB 74/79 CI-TB 74/79 74-79 M8*75 24*1.5 - -
CA-TB 80/85 CI-TB 80/85 80-85 M8*75 24*1.5 - -
CA-TB 86/91 CI-TB 86/91 86-91 M8*75 24*1.5 - =
CA-TB 92/97 CI-TB 92/97 92-97 M8*75 24*1.5 - -
CA-TB 98/103 CI-TB 98/103 98 - 103 M8*80 24*1.5 - -
CA-TB 104/112 CI-TB 104/112 104-112 M8*80 24*1.5 - =
CA-TB 113/121 CI-TB 113/121 113-121 M8*80 24*1.5 - -
CA-TB 122/130 CI-TB 122/130 122-130 M8*80 24*1.5 - -
CA-TB 131/139 CI-TB 131/139 131-139 M10*105 26*1.7 - -
CA-TB 140/148 CI-TB 140/148 140- 148 M10*105 26*1.7 - -
CA-TB 149/161 CI-TB 149/161 149 - 161 M10*105 26*1.7 - -
CA-TB 162/174 CI-TB 162/174 162-174 M10*105 26*1.7 - -
CA-TB 175/187 CI-TB 175/187 175-187 M10*120 26*1.7 - -
CA-TB 188/200 CI-TB 188/200 188 - 200 M10*120 26*1.7 - -
CA-TB 201/213 CI-TB 201/213 201 -213 - - - -
CA-TB 214/226 CI-TB 214/226 214-226 - - - -
CA-TB 227/239 CI-TB 227/239 227 - 239 - - - -
CA-TB 240/252 CI-TB 240/252 240 - 252 - - - -

- 17-

@ F Dimensions are reference only and may be changed without notice. A .
L| NK LUID LINKFLUID © - CA2014-1 www.linkfluid.com


http://www.linkfluid.com/
http://www.linkfluid.com/

LINKFLUID

E DISTRIBUTION OF HYDRAULIC EQUIPMENT

LINKFLUID is an import and trade platform for hydraulic goods.
WWW.LINKFLUID.COM

CATALOGUE LINKFLUID © - CA2014-1


http://www.linkfluid.com/

	LKF-couv-collier_R
	LKF-13-colliers CATA 2014
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 02-SOMMAIRE
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 03-SOMMAIRE (2)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 04-SOMMAIRE (2)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 05 - Technique (3)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 06 - Technique (4)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 07-Colliers simples
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 08-Colliers simples (2)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 09-Colliers simples (3)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 10-Colliers doubles
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 11-Colliers doubles (2)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 12-Colliers doubles (3)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 13-Colliers lourds
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 14-Colliers lourds (2)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 15-Colliers lourds (3)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 16-Colliers lourds (4)
	GB-CATA 2014 13-colliers_ca_ci2014-fr-gb-de 17-colliers tourillons

	LKF-couv-collier_V

	URL LINKFLUID: 
	Before: 
	After: 
	Print: 
	Home: 
	Numero de page 8: 
	Numero de page 7: 
	Numero de page 5: 
	Numero de page 9: 
	Numero de page 12: 
	Numero de page 11: 
	Numero de page 10: 
	Numero de page 13: 
	Numero de page 14: 
	Numero de page 15: 
	Numero de page 16: 
	Numero de page 17: 


